O00 2007000000 0000 orjor/240) ooooooo

ooggbooobnoodbboobboguboguboouboouboad

1 3 1
M 5 @) 5 3) 0 @ —5 () 0
(1) —(:(:212;:5)7 (2) 10sin? 2z cos 2z (3) —e“Tsinx
logz — 1
(()i:x)z 5) 0 6) 202122+ 2 +1)
. 222 + a?
D VEra
x -3 1
ffley| =] 0 | +] 0 | —
ICINEIZEEN
HEN g

(—oo,—b)000 f"(z) >0000000
(—=5,8)000 f"(x) <00DDODOODO
(8,00)000 f"(x) >0000000

f(@) = (=1)(=2)(=3) - (=n+ (x +2)7" = (=1)" H(n - D)l(z +2)"

dy sint
@ — = — = —tant
dx cost

2
— tan—1 x 2z
f(:r:)—tan $—1+x2DDDDf/($)—(1_|_:):2)2>O

0000 f(z)0 (—oo,00) 000000000 0<zO0D0O0O00= f(0)< f(x)
T
DDDDDDDD:L‘>0DDDD1 <tan'zOOOO

+ z2



